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Rounding-Off-Number – 1 

1. Round of 8764 to the nearest ten. 

a) 8765       b) 8770 

c) 8760       d) None of these 

2. Round off 456879 to the nearest ten. 

a) 456879       b) 456880 

c) 456870       d) None of these 

3. Round off 345672 to the nearest ten thousand. 

a) 350000       b) 345000 

c) 340000       d) 300000 

4. Round off 68753219 to the nearest hundred. 

a) 68753219      b) 68753220 

c) 68753200      d) 68753000 

5. Round off 85000000 to the nearest crore. 

a) 80000000      b) 85000000 

c) 86000000      d) 90000000 

6. Round off 389742136 to the nearest ten-lakh. 

a) 389000000      b) 390000000 

c) 389700000      d) 389600000 

7. Round off 243718806 to the nearest lakh. 

a) 24370000      b) 243700000 

c) 243600000      d) None of these 

8. Population of a country is 23576894 and population of neighboring country is 40572819. What is the 

population of two countries rounded off to the nearest ten-lakh? 

a) 65000000      b) 6400000 

c) 64000000      d) 66000000 

9. Add the greatest 8-digit number to the greatest 7-digit number and round off the sum to the nearest 

ten thousand. 

a) 109999998      b) 110000000 
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c) 101000000      d) None of these 

10. Subtract the greatest 7-digit number from the smallest 9-digit number and round off the difference 

to the nearest lakh. 

a) 90000001      b) 90000000 

c) 9000000      d) 900000000 

   

  


